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Eugene Stratton 
with harmony
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Swung!

                              

                 

5









                    
        

                

9





                     
           

                 

14





                     
        



Note: I have written this out in 4/4 - it may be easier for memorising ...? 

Hence the harmony line here is in crotchets but to match the original (in 2/4) 

it will actually need to be quavers (ie q = e )
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